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Note : —  Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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Attempt all questions.
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1. (a) State whether the following are true or false (any five) : 5x1=5
(%) frfafen o= ¥ § @1 s, @Ry ($E uf=) -

() A deductive argument whose premises are true and conclusion is false must be
invalid. :
& fmers g foas smumees 99 9 fred s § 97 oy @
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ther determine a categorical syllogism’s logical form.

(i) Figure and mood toge

mﬁaﬁtm@maﬁmﬁﬁﬁawéaﬁ%msﬁm
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(iii) The obversion of ‘All S is P is ‘No S is non-P’.

‘e wE. W § e g T w9 T ¥ Eal

(iv) The ‘father’ of deduction is Bacon.

fr & S A T
(v) ‘A proposition is sub-contrary to ‘E’.

g w1 of-faadid A’ 7l

(viy In‘T proposition only predicate term is distributed.

‘I’Wﬁmﬁaﬂmmm%
(vii) 1Al is valid in third figure. |
1Al gt et B A A 7

(b) Fill in the blanks (a;ly five) -
(@)ﬁaawﬁﬁqﬁaﬁm(féﬁa) :

y in the premises and not in the conclusion.

sx1=5 [

(1) cornerenensenees occur onl
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(i) EIO i v in all figures.
‘EIO” qgﬁ Sl F e ¥

(iv) ‘Might is right’ is the characteristic of ..................... fallacy.‘
‘W g"T gg“hf %1 ..................... aa-)f-a.q HT L0 %I

V) In e proposition subject term is undistributed but predicate is
distributed.

.................... THRAHE § YT @ B T, SEfE fO¥u o)

(vi) If D is true, then ‘A’ will be ..ooovocrerrrerenenn. .

077) N occurs when the subject and predicate terms of the proposition are

(¢) Give brief answers to the following questions (any fen) : 10x2=20
(m) Frefefen T & sw AR (@ @)
(i) What are mood and figure of a syllogism ?
fordll =rera § s 9 ST T A ¥ 2
(i) Define existential fallacy with example.
1{ R Wed aeE AW F R A
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(v)

(vi)

(vii)
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What is the difference between premiée and conclusion'?
smyrarE 3 frad § w7 o B ¥ 2
What do you understand by sub-contrary relation ?
Ig-foaadta ey ¥ N9 7 wHE™ § 2
Explain obversion.
ST ® e wifeg)
What is fallacy of four terms ?
TR AN F OB § 2
Why is the contraposition of ‘I’ proposition not valid ?

‘I gReiedT &= 89 78 @ ¥ 2

(viii) Give two examples of the fallacy of composition.

(i)
)

(xi)
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Define quality and (juantity of a proposition.

AR F T F R R R R

What is the difference between sentence and proposition ?

T AR qwaEE T 1 AR B § 2

Give an example of a syllogism which involve both the fallacies of illicit major and
minor.
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(xii) Reduce the following sentences o their logical forms :
ot el W T A S d e
(@) All students are not intelligent.
ot faeneft gfgwm 7@ €

| (b) Maximum rules are humanistic.

sffierier F98 THEdER] ©

2. Write short notes on any three of the following : 3x5=15

e & @ fed W dfia feo fafae

(/) Distribution of Terms
w W

(i) Traditional square of opposition
o feldy &

(i) Truth and validity
T iR S

(iv) Categorical Syilogism

fry g

(v) Signiflcance' of Logic .
JHIMEA & e |
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3.  (a) Arrange any one of the following into standard form of categorical syllogism and indicate

its Figure and Mood and test its validity using six rules : ' 6

(%) frafafea =rEfa F 99F TR § 96eR [ S: Tl & ouR W SEaR S
w A" HY (FE TH)

() - No philosophers are rich teachers because no honest people are rich teachers and

some philosophers are honest people.

F5 NI ot fies T § Fifs S8 $arer st R figes w1 R
IR %o Inif AR Afw@ §) T

(#) Some actors are not good persons. Some good persons are not succcessful that

is why some actors are not successful.

%9 A o= =i T/ T w19 T R wwa 16§ 98 wRo ¥
5 o afvm gea 78 &

(b) Test the validity/invalidity of any two of the following : 2x2=4

(@) Frafefen 1 doasdam B e FC (@) -

() OAO - 3
() AAA -2
(i) AEE - 4

vy 1Al -1
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4. (a) Identify and explain the informal fallacies committed in the following passages

(any five) : 5x2=10

(%) Frafafes SKewl 4§ ffea dwdl ) weam it (9% i) -

U]

(i)

(iii)

(v)

»

This cold drink is very good because the great cricketer Sachin Tendulakar
drinks it.

7 Yo 99 Sgd orem ¥ i HeM fre Rarest wfem ToaeR @ O
4

I did not perform well in Logic paper because a black cat crossed my path while

I was going for examination.

TR S i TS T R I s m i W AW @ g @

Fre faeel B TET wR TR

During riots sometimes innocent people are killed in police firing, therefore police

should not have right to fire in any circumstances.

éﬁ%ﬁmgﬁ—mﬁﬁaﬁﬁmﬁ—wﬁﬁqﬁmﬂﬁqﬁmﬁmm
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Goa is a small state of India. Therefore India is a small country.
el YA H TH DR TY ¥ WA 9RG TF DT W 3

You should opt this course because everyone is opting this.
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(vi) He is famous because he is well known.
I WHg ¥ wifw a7 faem ¥
(vii) Do you still bunk your Logic classes ?

A I st TR W s § T8 M ¥ 2

(b) Define with examples any two of the following fallacies :

(®) ®& & gr Frfafen et #1 wRufm Sk (@9 @)

() Fallacy of accident
qafy
(i)  Argument from ignorance

IS

(@if) The appeal to pity

LRI GE Sl

(iv) Fallacy of accent

WUEE 1 YSTEE S |
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2x5=10
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